H. Geometry – Bellwork #31		Date: ________

Name each property being used.


1.  							5.  Which of the following is an example of the 									Reflexive Property of Equality?
[image: ]

2.  If x = 2 and x = y, then y = 2.					



3.  If x = 3 and 2x + 7 = 4y, then 2(3) + 7 = 4y.





4. If , then 

  

6.  Fill in the missing information in the proof below.

[image: ]

   Statements				         	Justifications
   1.  AB + BC = AC			        	1. ____________________________
   2. _____________________		2.  Substitution
   3.  5x + 1 = 36				3.  ____________________________
   4.  _____________________		4.  Subtraction Property of Equality
[bookmark: _GoBack]   5.  x = ______				5.  ____________________________
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											turn to the back for #9 
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Given: AC = 36
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In the equation above, ¢ is a constant. If the
equation has no real solutions, which of the following
could be the value of ¢ ?

A) -3
B) -1
C) 1

D) 3
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Which of the following is equivalent to
4x+2

A) x

B) x+4

x—
4x+2

D) x+1-

4x+2
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The vertex of the parabola in the xy-plane above

is (0, ). Which of the following is true about the
parabola with the equation y = —a(x - b)? +¢ ?

A) The vertex is (b, c) and the graph opens upward.

B) The vertexis (b,c) and the graph opens
downward.

C) The vertexis (=b,c) and the graph opens
upward.

D) The vertexis (—b,c) and the graph opens
downward.
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Clfx=-2, thenx+4=-2+4.
Ox-2=x-2

Clfy =x+4, thenx+4 =
Clfx-2=yandy =4, thenx-2=4.
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